






9. The mass of 3m3 of tin is 21840kg.

g: (a) Work out the density of tin. 
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+J-.fio 3 .................... kg/m 

10. 
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(2) 

The density of aluminium is 2712kg/m3
. X S-- -:. J3 ;-/,U fd 

(b) Work out the difference in mass between 5m3 of tin and 5m3 of aluminium.

r:(\ - ;;__114o �a ÷ 3 x 5 = 36400kg
Af v,..-i;,._.'.,� - 115(-0 /

'j 
.....22840 kg

Mr.Dixon is building a toy boat for his son. 
He has three different planks of wood to choose from. 

--------

Plank A Plank B Plank C 

Volume = 750cm
3 

Mass= 900g 
Volume = 0.0152m

3 
Volume = 1000cm

3 

Mass= 7.6kg Mass = 1.02kg 

If wood has a density under 1 g/cm3
, it will float. 

Which plank of wood is the most suitable? 
Explain your answer. 

] bOO = o-o/tA�
/51,.00 

I� = 1 oz/t,,,' 
/CXJO 

(3) 

Plank ................... . 
(4) 
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